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QUESTION 1

IS-1S is configured to support both IPv4 and IPv6 routing. Which statement is true?
A. Separate IPv4 and IPv6 hellos will be sent.

B. IPv6 will have a separate link-state database.

C. IS-IS v6 support must be enabled under protocols isis.

D. IS-IS sends IPv6 topology information as new TLVs in existing LSPs.

Correct Answer: D

QUESTION 2

Click the Exhibit button.

[edit firewall three-color-policer policerd]
user@router$# show
two-rate |
color—-aware;
comnitted-information-rate lm:
comnlitted-burst-size 500k;
peak-information-rate Sm;
peak-burst-size 1lm;

Traffic is flowing through the policer as shown in the exhibit. The traffic has a throughput rate of 3 Mbps, and the burst
size counter is at 1.5 MB. How is traffic affected?

A. Traffic has its PLP set to low.

B. Traffic has its PLP set to medium-low.
C. Traffic has its PLP set to medium-high.
D. Traffic has its PLP set to high.

Correct Answer: C

QUESTION 3

Click the Exhibit button.
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After adding Customer C to your Layer 3 VPN, you must validate that PE2 is receiving VPN routes for all customers
attached to PE1, as shown in the exhibit. Which operational command displays this information?

A. show route instance

B. show route summary

C. show route table bgp.I3vpn.0

D. show route table customer-c.inet.0

Correct Answer: C

QUESTION 4

You have configured bidirectional LSPs between R1 and R3. You notice that the LSPs are not coming up.

= 08PF = =« ST T s
Arsal i R2,” Arpail R3 “.
%
172.37.0.6/30 172.27.0.2/30 A
1?2 27.0.5,30 1?2 27.0.1/30 )
b — ’
.‘ - '-'... . \
""ll-__ ______ ey d-‘l--_—--".-'l-‘_______h.__-l-l"
[edit] [2Eic]
usezfRLf show pIozocols mpls ugerdndi dew proteccils mels
label-swicched=pash Rl-to-R3 [ Label=gwitched-path Bd-to=RI |
O 192,188.71.3:2 o 15Z.188.71.L;
I ]
intertace qe-1f1/8,0; incerface ge-1/1/3.02

Referring to the exhibit, which statement is correct?

A. You must disable CSPF for the LSPs.
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B. You must enable CSPF for the LSPs.
C. You must ensure type 5 LSAs are allowed in area 1.
D. You must ensure OSPF traffic engineering is configured.

Correct Answer: A

QUESTION 5

Click the Exhibit button.

[edit]
rootfR4# run show i=is database
I3-I3 lewvel 1 l-nk-state database:

LSE ID Sequence Checksum Lifetime Attributes
E4.00-00 Oxc4 OxeS8580 1154 L1 L2
E3.00-00 O3 DxZeael 1150 L1 LZ
E3.02-00 02 Ozcd Gz 1150 L1 LZ

3 L8Ps

I3-I3 level ¢ l-nk-state ditabase:

L8P ID Sequence cChecksum Lifetime Attributes
F4.00-00 Ox=5 ODxee?d 1154 T1 L=
R3.00-00 Ox4 Oxedlt 1150 L1 LZ
E3.02-00 O3 D448 1151 L1 LZ

3 LE8Ps=
[edit]
rootdR4d#f

Based on the output in the exhibit, which statement is correct?

A. R4 has been configured with an IS-IS export policy and is announcing external routing information.
B. R3 and R4 have an adjacency at both level 1 and level 2.

C. R3 has been configured so that it is not used for transit traffic.

D. R3 and R4 have only a level 2 adjacency.

Correct Answer: B
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